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Which among the following was not a challenge to nationhood in the immediate post-Independent India?

1. To shape an united nation that was accomodative of the diversity in India

2. To restructure its economy through structural adjustment programme

3. To develop democratic practices in accordance with the Constitution

4. To evolve policies that address economic development and eradication of poverty

Options :

2268952589278. 1
2268952589279. 2
2268952589280. 3
2268952589281. 4

Question Number : 386 Question Id : 226895667864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589278. 1
2268952589279.2
2268952589280. 3
2268952589281. 4
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Which of the following statements are correct about the problems of the Partition of India?

{A) There was no single belt of Muslim majority areas in British India.

(B) Khan Abdul Gaffar Khan of North Eastern Frontier Province opposed the two nation theory.

{C) There were areas in Bengal and Punjab provinces in British India where non-Muslims were in majority.
(D) Minorities on both sides of the border suffered violence due to Partition.

Choose the correct answer from the options given below:

1. (&), (B), (C) and (D)

2. (A), (B) and (C) only
3. (B), (C) and (D) only
4. (A), (C) and (D) only

Options :

2268952589282. 1
2268952589283. 2
2268952589284. 3
2268952589285. 4
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2.%ad (A), (B) 3R (O)
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4. (A), (C) and (D) only

Options :

2268952589282. 1
2268952589283. 2
2268952589284. 3
2268952589285. 4
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Which of the following part of the Indian Constitution is related to the Directive Principles of State Policy?

1. Part Il in the Indian Constitution
2. Part IV in the Indian Constitution
3. Part V in the Indian Constitution
4. Part VI in the Indian Constitution

Options :

2268952589286. 1
2268952589287. 2
2268952589288. 3
2268952589289. 4

Question Number : 388 Question Id : 226895667866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589286. 1
2268952589287.2
2268952589288. 3
2268952589289. 4
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The first general elections was held in India between:

1.1951-1952
2.1952-1953
3.1953-1954
4.1954-1955

Options :

2268952589290. 1
2268952589291. 2
2268952589292. 3
2268952589293. 4

Question Number : 389 Question Id : 226895667867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : S Wrong Marks : 1
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1.1951-1952
2.1952-1953
3.1953-1954
4.1954-1955

Options :

2268952589290. 1
2268952589291. 2
2268952589292. 3
2268952589293. 4

Question Number : 390 Question Id : 226895667868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

How many women were not recorded in the first draft of the electoral rolls?

1.10 lakh
2. 20 lakh
3. 30 lakh
4. 40 lakh

Options :

2268952589294. 1
2268952589295. 2
2268952589296. 3
2268952589297. 4
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Correct Marks : S Wrong Marks : 1
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2268952589294. 1
2268952589295.2
2268952589296. 3
2268952589297. 4
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Which political leader did not participate in any of the Independence Day Celebrations on the 15th August, 19477

1. Jawaharlal Nehru

2. Dr. B.R. Ambedkar

3. Sardar Vallabhbhai Patel
4. M.K. Gandhi

Options :

2268952589298. 1
2268952589299. 2
2268952589300. 3
2268952589301. 4
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2268952589298. 1
2268952589299. 2
2268952589300. 3
2268952589301. 4

Question Number : 392 Question Id : 226895667870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which initiative was launched by the government between 1987 and 1991 that involved campaigns for development?

1. Development Qutcome Programme
2. Kamraj Plan
3. New Democratic Initiative

4. Socialist pattern of society

Options :

2268952589302. 1
2268952589303. 2
2268952589304. 3
2268952589305. 4

Question Number : 392 Question Id : 226895667870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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2268952589302. 1
2268952589303. 2
2268952589304. 3
2268952589305. 4
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Operation Flood deals with:

1. Nationwide Milk Grid

2. Flood Management in Bihar

3. Increasing Wheat Production in Punjab and Haryana
4. Investigating flood crisis in lower Assam

Options :

2268952589306. 1
2268952589307. 2
2268952589308. 3
2268952589309. 4

Question Number : 393 Question Id : 226895667871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589306. 1
2268952589307.2
2268952589308. 3
2268952589309. 4
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Question Mandatory : No
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Which of the following provision of the Indian Constitution deals with promoting International Peace and Security?

1. Article 51
2. Article 21
3. Article 25
4. Article 44

Options :

2268952589310. 1
2268952589311. 2
2268952589312 3
2268952589313. 4

Question Number : 394 Question Id : 226895667872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589310. 1
2268952589311. 2
2268952589312. 3
2268952589313. 4
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Correct Marks : S Wrong Marks : 1

Who played an instrumental role for India in world affairs and was responsible for the establishment of contacts
between India and other newly independent states in Asia and Africa?

1. Jawaharlal Nehru
2. Indira Gandhi

3. Lal Bahadur Shastri
4. Rajeev Gandhi

Options :

2268952589314. 1
2268952589315.2
2268952589316. 3
2268952589317. 4

Question Number : 395 Question Id : 226895667873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



3% Al H HRd & (AU oo Heayul YiFe FHTg SR TR g oibie! § YRd 941 3 U a4 el & 49 U
wTfid #3A & e &4 Saar! U

1. ARG Ag®
2. Sier i
3. TIIC SgTgY el
4, TSg e

Options :

2268952589314. 1
2268952589315. 2
2268952589316. 3
2268952589317. 4

Question Number : 396 Question Id : 226895667874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

With which country India signed a 20 year Treaty of Peace and Friendship in 19717

1. China

2. Pakistan

3. Soviet Union
4. Bangladesh

Options :

2268952589318. 1
2268952589319.2
2268952589320. 3
2268952589321. 4
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Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589318. 1
2268952589319. 2
2268952589320. 3
2268952589321. 4
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Which of the following statements is/are not true about privy purse?
{A) A privy purse was given to the Princely States.

(B) It was given as an assurance that after the dissolution of princely rule, the then rulers families would be allowed to
retain certain private property and given a grant in heredity or government allowance.

(C) At the time of accession, there was little criticism of these privileges since integration and consolidation was the
primary aim.

(D) Hereditary privileges were consonant with the principles of equality, social and economic justice.
Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (B) and (C) only

3. (A), (B), (C) and (D)
4. (D) only

Options :

2268952589322. 1
2268952589323.2
2268952589324. 3
2268952589325. 4
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Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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2268952589322. 1
2268952589323. 2
2268952589324. 3
2268952589325. 4
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Arrange the following events in chronological order;

{A) DMK was formed.

(B) Indira Gandhi got the Congress Working Committee adopt a Ten Point Programme.,
{C) K. Kamraj proposed that all Congressmen should resign from office.

(D) The fifth general election to Lok Sabha were held.

Choose the correct answer from the options given below:

(B). (C)(D)
(B).(A). (©)
B), (Q). (D). (A)
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Options :

2268952589326. 1
2268952589327. 2
2268952589328. 3
2268952589329. 4

Question Number : 398 Question Id : 226895667876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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2268952589326. 1
2268952589327.2
2268952589328. 3
2268952589329. 4
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The DMK came to power for the first time in state elections because-

1. It demanded President's rule in Andhra Pradesh

2. It was against frequent floor-crossing of legislators

3. It led an anti-Hindi agitation against the centre

4. It supported the Congress Syndicate to form coalition government in Tamil Nadu

Options :

2268952589330. 1
2268952589331.2
2268952589332. 3
2268952589333. 4
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2268952589330. 1
2268952589331. 2
2268952589332. 3
2268952589333. 4
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When was the Department of Defence Supplies established?

1. 1962
2.1965
3. 1968
4.1974

Options :

2268952589334. 1
2268952589335.2
2268952589336. 3
2268952589337. 4

Question Number : 400 Question Id : 226895667878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. 1962
2.1965
3.1968
4.1974

Options :

2268952589334. 1
2268952589335.2
2268952589336. 3
2268952589337. 4

Question Number : 401 Question Id : 226895667879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11

(A) Gujarat Movement (1) May 1974

(8) Bihar Movement (I 1979

(C) Assam Movement {1y March 1974
(D) Railway Strike (IV) January 1974

Choaose the correct answer from the options given below:

1. (A) - (), (B) - (), () - (), (D) - (1)
2. (A) - (1), (B) - (1), (C) - (), (D) - (IV)
3. (A) - (), (B) - (), (C) - (1), (D) - (my
4. (A) - (), (B) - (V). (O - (1), (D) - (1
Options :

2268952589338. 1

2268952589339. 2

2268952589340. 3

2268952589341. 4

Question Number : 401 Question Id : 226895667879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : 5 Wrong Marks : 1
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1. (A)-(IV), (B)-(111). (C)-(1n), (D)-(D)

2. (A)-(1). (B)-(111), (C)-(11), (D)-(1IV)

3. (A)-(1), (B)-(1), (C)-(1V), (D)-(11)

4. (A)-(I), (B)-(IV), (O)-(1), (D)-(11)

Options :

2268952589338. 1
2268952589339.2
2268952589340. 3
2268952589341. 4
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In which of the following movements was the slogan-'Vadakku Vaazhkiradhu;Therkku Thaeikiradhu' (The north thrives
even as the south decays)- used?

1. Gujarat movement
2. Anna movement

3. Assam movement

4. Dravidian movement

Options :

2268952589342. 1
2268952589343. 2
2268952589344. 3
2268952589345. 4

Question Number : 402 Question Id : 226895667880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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2268952589343. 2
2268952589344. 3
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Question Number : 403 Question Id : 226895667881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : S Wrong Marks : 1

Who among the following started the Self-Respect Movement in 19257

1. EV. Ramasami Naicker
2. Kashiram

3. B. R Ambedkar

4. lyotiba Phule

Options :

2268952589346. 1
2268952589347.2
2268952589348. 3
2268952589349. 4

Question Number : 403 Question Id : 226895667881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : S Wrong Marks : 1
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2268952589346. 1
2268952589347. 2
2268952589348. 3
2268952589349. 4

Question Number : 404 Question Id : 226895667882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Which of the following statements are correct about elections in India?
{(A) The Congress Party won more seats in the Lok Sabha in 1989 elections than in 1984 elections.
(B) The 1991 Lok Sabha elections marked the end of the ‘Congress system’.

(C) The Lok Sabha elections in 1989 led to the defeat of the Congress party but did not result in a majority for any
other party.

(D) In 1989 the National Front formed a coalition government at the centre.
Choose the correct answer from the options given below:

1. (A), (B), (C) and (D)
2. (A), (B) and (D) only
3. (B) and (D) only

4, (C) and (D) only

Options :
2268952589350. 1
2268952589351.2



2268952589352. 3
2268952589353. 4
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Options :

2268952589350. 1
2268952589351.2
2268952589352. 3
2268952589353. 4
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Under which provision of the Indian Constitution, Kashmir was given a special status?

1. Article 324
2. Article 364
3. Article 370
4. Article 375

Options :

2268952589354 1
2268952589355.2
2268952589356. 3
2268952589357. 4

Question Number : 405 Question Id : 226895667883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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2268952589354. 1
2268952589355.2
2268952589356. 3
2268952589357. 4

Question Number : 406 Question Id : 226895667884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

In which year did the All Assam Students’ Union (AASU) lead an anti-foreigner movement?

1.1979
2.1978
3.1976
4.1977

Options :

2268952589358. 1
2268952589359. 2
2268952589360. 3
2268952589361. 4

Question Number : 406 Question Id : 226895667884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.1979
2.1978
3.1976
4. 1977

Options :

2268952589358. 1
2268952589359.2
2268952589360. 3
2268952589361 4
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Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the following events in chronological order;
{A) The peasant uprising took place in the Naxalbari police station area of Darjeeling hills district in West Bengal.

(B) The opposition pelitical parties led by J.P. Narayan organised a massive demonstration in Delhi's Ramlila grounds
demanding the resignation of Indira Gandhi.

(C) The Janata Party government appointed Shah Commission of Inquiry.
(D) The Supreme Court decided the Keshavananda Bharati case.
Choose the correct answer from the options given below:

1. (A)(B). (C). (D)
2. (B). (C), (A), (D)
3. (A), (D). (B). (Q)
4. (C), (B), (D), (A)
Options :
2268952589362. 1
2268952589363. 2
2268952589364. 3
2268952589365. 4

Question Number : 407 Question Id : 226895667885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : S Wrong Marks : 1
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(B) of. U1, AR o -iqged ¥ fquall Areifae gal 3 Sfaxr it & s&iih &) 4iv &l e fowd & Jadial daH J Us fagd
UG $1 ATlor fdar 41l

(C) ST T TSR - Mg witg =g Fged fan
(D) Gafed ATy - BEEFe YR 9 &1 Haar &
id feu e faded! & ¥ wEl SW g

1. (A), (B), (). (D)
2. (B), (C), (A). (D)
3. (A), (D), (B), (C)
4. (Q), (B), (D), (A)
Options :

2268952589362. 1
2268952589363.2
2268952589364. 3
2268952589365. 4

Question Number : 408 Question Id : 226895667886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The Shah Bano case dealt with-

1. Post-partition rehabilitation of Muslims

2. Maintenance of a Muslim woman from her husband
3. Wakf Board

4. Triple Talag

Options :

2268952589366. 1
2268952589367. 2
2268952589368. 3
2268952589369. 4

Question Number : 408 Question Id : 226895667886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

INTE 91 &1 J1He ey TrEidd 82

1. fqure o gyIa 9Ram! &1 gaiy

2. 30 Ufd ¥ U H¥H Higl & TeRT 4l
3. 995 918

4. dI9 dclid

Options :

2268952589366. 1
2268952589367. 2
2268952589368. 3
2268952589369. 4

Question Number : 409 Question Id : 226895667887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The fall of the Berlin Wall symbolises which of the following events in International Politics?

1. Disintegration of Germany

2. Unification of Germany

3. Beginning of Cold War

4. Collapse of the Second World

Options :

2268952589370. 1
2268952589371.2
2268952589372 3
2268952589373. 4

Question Number : 409 Question Id : 226895667887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952589370. 1
2268952589371.2
2268952589372. 3
2268952589373. 4

Question Number : 410 Question Id : 226895667888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the events in chronological order:
{A) China occupies Aksai-Chin area
(B) Full diplomatic relations was restored between India and China
(C) Atal Behari Vajpayee the first top level leader to visit China
(D) China's massive invasion

Choose the correct answer from the options given below:

5]

1. (A), (B), (Q),
2. (B}, (), (A),
3.(A) (D), (B),
4. (Q). (B), (D),

Options :

2268952589374. 1
2268952589375.2
2268952589376. 3
2268952589377. 4

Question Number : 410 Question Id : 226895667888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



T3l & BT o1 o sIaieyd o1
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4 feu e faweg! 3 98 S g

Options :

2268952589374. 1
2268952589375. 2
2268952589376. 3
2268952589377. 4

Question Number : 411 Question Id : 226895667889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Arrange the following events related to disintegration of the Soviet Unicn in chronological order:
{A) Boris Yeltsin is appointed as the head of the Communist Party in Moscow.
(B) Soviet Union declares that the Warsaw Pact members are free to decide their own future.
(C) Boris Yeltsin becomes the President of Russia.
(D) The Commonweaith of Independent States is established.

Choose the correct answer from the options given below:

Options :

2268952589378. 1
2268952589379. 2
2268952589380. 3
2268952589381. 4

Question Number : 411 Question Id : 226895667889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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(B) THfqaT Ta TIuon =l § b aRE O & Uewd U 4ias gE o0 o3 & U Wil 2
(C) SR Fedlie 9 & APl &1

(D) EGciA Iedl BT AFHST Wi fvar mar g |

td fag e ool § 9 e S I

1. (A), (B), (O (D)
2. (B}, (A), (O). (D)
3.(Q) (A) (B), (D)
4.(

B), (O, (A) (D)

1l

Options :

2268952589378. 1
2268952589379.2
2268952589380. 3
2268952589381. 4

Question Number : 412 Question Id : 226895667890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which country's development into an economic power is known as the "Miracle on the Han River"?

1. Japan

2. China

3. South Korea
4. Indonesia

Options :

2268952589382. 1
2268952589383. 2
2268952589384. 3
2268952589385. 4

Question Number : 412 Question Id : 226895667890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

fPu o3 & anffe Tfea ¥ 9oy @1 '8F 76 W o9@R" & ©0 § 9H 9l 67

1. STAH

2. 9H

3. Gi&or Sifkar
4. SSHREM

Options :

2268952589382. 1
2268952589383.2
2268952589384. 3
2268952589385. 4



Question Number : 413 Question Id : 226895667891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which Treaty was resisted by Denmark and Sweden as an Euro-skeptic response to European Union's integrationist
agenda?

1. Bangkok Declaration

2. Maastritcht Treaty

3. Strategic Arms LimitationsTreaty
4. Warsaw Pact

Options :

2268952589386. 1
2268952589387. 2
2268952589388. 3
2268952589389. 4

Question Number : 413 Question Id : 226895667891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

I ¥9 & THIHuE] Teis & fore - ufafear & 9§ S iR wie 3 foog I &1 favty e ar

1. dBI® THT

> T

3. g SRR A a9
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Options :

2268952589386. 1
2268952589387.2
2268952589388. 3
2268952589389. 4

Question Number : 414 Question Id : 226895667892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
In which of the following year did India and Pakistan sign the Shimla Agreement?

1. July 1966
2. July 1972
3. July 1976
4. July 1987

Options :

2268952589390.
2268952589391.
2268952589392.
2268952589393.

s W N =

Question Number : 414 Question Id : 226895667892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. 9T 1966
2. 9[els 1972
3. 9qls 1976
4. 9[ETs 1987

Options :

2268952589390. 1
2268952589391. 2
2268952589392. 3
2268952589393. 4

Question Number : 415 Question Id : 226895667893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

In which year did India and Bangladesh sign the Farakka Treaty for sharing of the Ganga water?

1. 1985
2.1988
3. 1991
4. 1996

Options :

2268952589394. 1
2268952589395. 2
2268952589396. 3
2268952589397. 4

Question Number : 415 Question Id : 226895667893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.1985
2.1988
3. 1991
4.1996

Options :

2268952589394. 1
2268952589395.2
2268952589396. 3
2268952589397. 4

Question Number : 416 Question Id : 226895667894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The olive branches in the emblem of the United Nations' logo signifies:

1. Security

2. Reform

3. World peace
4. Human rights

Options :

2268952589398. 1
2268952589399. 2
2268952589400. 3
2268952589401. 4

Question Number : 416 Question Id : 226895667894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. T4
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3. fay wifg
4. ISR

Options :

2268952589398. 1
2268952589399. 2
2268952589400. 3
2268952589401. 4

Question Number : 417 Question Id : 226895667895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
The WTO was set up in 1995 as the successor to which of the following organization?

1. General Agreement on Trade and Tariffs (GATT)
2. League of Nations

3. United Nations

4. Amnesty International

Options :

2268952589402. 1
2268952589403. 2
2268952589404. 3
2268952589405. 4

Question Number : 417 Question Id : 226895667895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589402. 1
2268952589403. 2
2268952589404. 3
2268952589405. 4

Question Number : 418 Question Id : 226895667896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-1I
(&) Brundtland Report (1) 1982
(B) Antarctic Treaty (1) 1991
(C) Antarctic Environmental Protocol (1l1) 1959
(D) Earth summit in Rio de Janeiro (V) 1987

Choose the correct answer from the options given below:

1. (A) - (V), (B) - (1), (C) - (W), (D} - ()
2. (A) - (1), (B) - (1), () - (), (D) - (V)
3. (A) - (), (B) - (1), (C) - (V). (D) - (1)
4. (A) - (), (B) - (1v), () - (1. (B) - (I
Options :

2268952589406. 1

2268952589407.2

2268952589408. 3

2268952589409. 4

Question Number : 418 Question Id : 226895667896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Tdi-1 &1 -1l & Iy e o

fore-| -l
(A) §Secis Rard (1) 1992
(B) SHeTbice dfe (1) 1991
(C) SfeTdhied Taiau Uieidia {1 1959
(D) Feat St 31 o qedt Rrer aeiE|v) 1987
< feu U fawegl & 9 981 S

1. (A)-(IV), (B)-(11T), (C)-(1). (D)-(D

2. (A)-(1), B)-(1n, (C)-(1), (D)-(1V)

3. (A)-(1). (B)-(11), (C)-(V), (D)-(1D)

4. (A)-(I), (B)-(1V), (O)-(1, (D)-(11)

Options :

2268952589406. 1
2268952589407.2
2268952589408. 3
2268952589409. 4

Question Number : 419 Question Id : 226895667897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The Vajpayee-Musharraf Summit in 2001 was held in-

1. Agra

2. Lahore

3. Delhi

4. Islamabad

Options :

2268952589410. 1
2268952589411. 2
2268952589412. 3
2268952589413. 4

Question Number : 419 Question Id : 226895667897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

2001 ¥ FUU-HERE RRER GHH Bel il fasan T/@r Uiz

1. HFRI
2.TER
3. feeedl
4. SEIEIG

Options :

2268952589410. 1
2268952589411. 2
2268952589412. 3
2268952589413. 4

Question Number : 420 Question Id : 226895667898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11
(A) Anti-ballistic Missile Treaty (1) 1968
(B) Nuclear Non-Proliferation Treaty (1) 1974
(C) Chemical Weapons Convention Treaty (lmn 1972
(D) India first tested a nuclear device (IV) 1992

Choose the correct answer from the options given below:

1. (A) - (), (B) - (), () - (1, (D) - (1)
2. (A) - (), (B) - (), (C} - (), (D) - (V)
3. (A) - (), (B) - (1), (©) - (IV), (D) - ()
4. (A) - (1), (B) - (V). (©) - (1), (D) - (1)

Options :

2268952589414. 1
2268952589415.2
2268952589416. 3
2268952589417. 4

Question Number : 420 Question Id : 226895667898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Tdi-1 &1 -1l & Iy e B

fere-| fere-1
(A) Ge-afafes faEa oy (1) 1968
(B) URHTY] SER EiY (I 1974
(C) IS BfYaR O (ny 1972
(D) YRd = U §R Uh URAIY] JUSH0T @ Ta0T fasa|iv) 1992
I feu e fomedl § ¥ UE S| I

1. (A)-(IV), (B)-(11), (©)-(1), (D)-()

2. (A)-(1), (B)-(11), (C)-(11), (D)-(IV)

3. (A)-(lm), (B)-(1), (Q)-(1V). (D)-(1m)

4. (A)-(11), (BY-(1V), (C)-(1). (D)-(11T)

Options :

2268952589414. 1
2268952589415.2
2268952589416. 3
2268952589417. 4

Question Number : 421 Question Id : 226895667899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Limits to Growth focuses on which of the following Environmental Concerns?

1. Depletion of the Earth's resources
2. Depletion of Ozone Layer

3. Coastal Pollution

4. Water Pollution

Options :

2268952589418. 1
2268952589419. 2
2268952589420. 3
2268952589421. 4

Question Number : 421 Question Id : 226895667899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

fafieg 2 gty Tafatad # 4 feg vafaeiy ffar = Bfga &2

1. 7t & SqreET & Bl
2. SIS 9 BT &°

3. AT Uy
4. Ic] UGl

Options :

2268952589418. 1
2268952589419. 2
2268952589420. 3
2268952589421. 4

Question Number : 422 Question Id : 226895667900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following regions are subject to special regional rules of Environmental Protection?

1. Argentina

2. Australia

3. France

4. The Antarctic and the Arctic polar regions

Options :

2268952589422. 1
2268952589423. 2
2268952589424. 3
2268952589425. 4

Question Number : 422 Question Id : 226895667900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589422. 1
2268952589423. 2
2268952589424. 3
2268952589425. 4

Question Number : 423 Question Id : 226895667901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Which one of the following international institutions plays an important role in determining economic policies across
the world?

1. IMF
2. |AEA
3. Amnesty International
4. Human Rights Watch

Options :

2268952589426. 1
2268952589427.2
2268952589428. 3
2268952589429. 4

Question Number : 423 Question Id : 226895667901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952589426. 1
2268952589427. 2
2268952589428. 3
2268952589429. 4

Question Number : 424 Question Id : 226895667902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



Which among the following statements are correct about the impact of Globalisation?
{A) Globalisation results in erosion of state capacity.
(B) it means erosion in the ability of the government to do what they do.

{C) All over the world, the old ‘welfare state’ is now giving way to a more minimalist state that performs certain core
functions.

(D) In place of the welfare state, it is the market that becomes the prime determinant of economic and social priorities.
Choose the correct answer from the options given below:

1. (A), (B), (C) and (D)

2.(C), (B) and (D) only
3. (A), (D) and (C) only
4. (B), (D) and (A) only

Options :

2268952589430. 1
2268952589431. 2
2268952589432. 3
2268952589433. 4

Question Number : 424 Question Id : 226895667902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A), (B), (Q) 3R (D)

2.%4d (), (B) 3R (D)
3. %4d (A), (D) AR (Q)
4.%4d (B), (D) 3R (A)

Options :

2268952589430. 1
2268952589431.2
2268952589432. 3
2268952589433. 4

Question Number : 425 Question Id : 226895667903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



‘McDonaldisation® is the result of which one of the following?

1. Political consequence of globalisation
2. Economic consequence of globalisation
3. Cuitural consequence of globalisation
4. Resistance to globalisation

Options :

2268952589434 1
2268952589435.2
2268952589436. 3
2268952589437. 4

Question Number : 425 Question Id : 226895667903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
TEsHeeRu FEfafEd H ¥ fGue oo 22
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3. iRl BT Giplad URUH
4. 35t &7 ufeRiy

Options :

2268952589434. 1
2268952589435. 2
2268952589436. 3
2268952589437. 4

Sub-Section Number : 2
Sub-Section Id : 22689527343
Question Shuffling Allowed : No

Question Id : 226895667904 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (426 to 430)

Answer the following questions based on the given image:

Sub questions

Question Number : 426 Question 1d : 226895667905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

In which year Nepal became a democratic republic after abolishing monarchy?

1. 2004
2.2015
3. 2008
4.2010

Options :

2268952589438. 1
2268952589439.2
2268952589440. 3
2268952589441. 4

Question Number : 427 Question Id : 226895667906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Which among the following statements is not correct about the nature of state and society in Nepal?

1. Nepal was a Buddhist Kingdom in the past.

2. The king retained full control over the government with the help of the army.

3. The Maoists of Nepal were successful in spreading their influence in Nepal

4. There was a triangular conflict among the monarchist forces, the democrats and the Maoists in Nepal

Options :

2268952589442. 1
2268952589443.2
2268952589444. 3
2268952589445. 4

Question Number : 428 Question Id : 226895667907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

In which year the King of Nepal accepted the demand for New Democratic Constitution?

1.1999
2.1990
3.1992
4. 1993

Options :

2268952589446. 1
2268952589447. 2
2268952589448. 3
2268952589449. 4

Question Number : 429 Question Id : 226895667908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



What is the name of the famous activist in the above picture?

1. Nahar Thapa
2. Durga Thapa
3. Renuka Kani
4. Tima Keni

Options :

2268952589450. 1
2268952589451.2
2268952589452 3
2268952589453. 4

Question Number : 430 Question Id : 226895667909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The non-viclent movement to restore democracy in Nepal was led by-

1. Socialist Democratic Alliance
2. Pro-Democracy Initiative

3. All Nepal Democratic Party
4. Seven Party Alliance

Options :

2268952589454 1
2268952589455.2
2268952589456. 3
2268952589457. 4

Question Id : 226895667904 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (426 to 430)

AR R Fmm R R Fsw &

Sub questions

Question Number : 426 Question Id : 226895667905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. 2004
2.2015
3. 2008
4. 2010

Options :

2268952589438. 1
2268952589439. 2
2268952589440. 3
2268952589441. 4

Question Number : 427 Question Id : 226895667906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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2. 3797 = T &1 Teal § TR TR I0 430 &1 34|
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Options :

2268952589442. 1
2268952589443. 2
2268952589444. 3
2268952589445. 4

Question Number : 428 Question Id : 226895667907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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1.1999
2.1990
3. 1992
4.1993

Options :

2268952589446. 1
2268952589447. 2
2268952589448. 3
2268952589449. 4

Question Number : 429 Question Id : 226895667908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

SRiad TR § uls Srdadl & =19 391 87

1. AT 4T
2. g1 4

3. JU[T B
4. fem &



Options :

2268952589450. 1
2268952589451.2
2268952589452 3
2268952589453. 4

Question Number : 430 Question Id : 226895667909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589454 1
2268952589455.2
2268952589456. 3
2268952589457. 4

Sub-Section Number : 3
Sub-Section Id : 22689527344
Question Shuffling Allowed : No

Question Id : 226895667910 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (431 to 435)

Answer the questions based on the following passage:

Sri Lanka has retained democracy since its independence in 1948, But it faced a serious challenge, not from the military or
monarchy, but rather from ethnic conflict leading to the demand for secession by one of the regions.

After its independence, politics in Sri Lanka (it was then known as Ceylon) was dominated by forces that represented the
interests of the majority Sinhala community. They were hostile to a large number of Tamils who had migrated from India to Sri
Lanka and settled there. This migration continued even after independence. The Sinhala nationalists thought that Sri Lanka
should not give ‘concessions’ to the Tamils because Sri Lanka belongs to the Sinhala people only. The neglect of Tamil concerns
led to militant Tamil nationalism. From 1983 onward, the Liberation Tigers of Tamil Eelam (LTTE) was fighting an armed struggle
with the army of Sri Lanka in pursuit of their demand for a "Tamil Elam" or separate country for the Tamilians of Sri Lanka. At one
point in time, the northeastern part of Sri Lanka was controlled by the LTTE.

The government of India has from time to time tried to negotiate with the Sri Lankan government on the Tamil question. But in
1987, the government of India for the first time got directly involved in the Sri Lankan Tamil question. India signed an accord
with Sri Lanka and sent troops to stabilize relations between the Sri Lankan government and the Tamils. Eventually, the Indian
Army got into a fight with the LTTE. The presence of Indian troops was also not liked much by the Sri Lankans. They saw this as
an attempt by India to interfere in the internal affairs of Sri Lanka. In 1989, the Indian Peace Keeping Force (IPKF) pulled out of
Sri Lanka without attaining its objective.

Sub questions
Question Number : 431 Question Id : 226895667911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : S Wrong Marks : 1



Which of the following community was in the minority in Sri Lanka?

1. Sinhala

2. Tamils

3. Indigenous
4. Rohingyas

Options :

2268952589458. 1
2268952589459. 2
2268952589460. 3
2268952589461. 4

Question Number : 432 Question Id : 226895667912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

What was the earlier name of Sri Lanka?

1. Rangoon

2. Ceylon

3. Shatagu

4. Shahbajgadhi

Options :

2268952589462. 1
2268952589463. 2
2268952589464. 3
2268952589465. 4

Question Number : 433 Question Id : 226895667913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

What was the demand of Tamilians to Sri Lanka's government?

1. Right to Vote

2. Right to contest in general elections

3. "Tamil Eelam” or a separate country for the Tamilians.
4. Establishment of Democracy

Options :

2268952589466. 1
2268952589467.2
2268952589468. 3
2268952589469. 4

Question Number : 434 Question Id : 226895667914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Choose the correct answers from the statements given below-

{A) India signed an accord with Sri Lanka and sent troops to stabilize relations between the Sri Lankan government and
the Tamils.

(B) In 1989, the Indian Peace Keeping Force (IPKF) pulled out of Sri Lanka without attaining its objective.
(C) The LTTE was vanquished in 2009,
(D) Sri Lanka has retained democracy since its independence in 1947

1. Only (A) and (B) are correct.

2. Only (A), (B) and (C) are correct.
3. Only (A), (B) and (D) are correct.
4. Only (A), {C) and (D) are correct.

Options :

2268952589470. 1
2268952589471. 2
2268952589472. 3
2268952589473. 4

Question Number : 435 Question Id : 226895667915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In which year IPKF (Indian peace keeping force ) was pulled out from Sri-Lanka?

1.1987
2.1989
3.1985
4. 1984

Options :

2268952589474 1
2268952589475.2
2268952589476. 3
2268952589477. 4

Question Id : 226895667910 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (431 to 435)
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2268952589466. 1
2268952589467.2
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Question Number : 434 Question Id : 226895667914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Question Number : 435 Question Id : 226895667915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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